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Find the hcf of these numbers

X 2 (
e@. X 2HEHEXS
HCF~ Qx Sxl/\2 3X7/

> 110 HCF

7x7 &&5*3
(»(cf S
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Highest Common Factor

Find the hcf of

336  HCF>3

27,18 HCF=9

10,12 HCF=)

800 HMCF= 19 ,"/)‘60&

Find the prime factorisation of qo

10 and 35.

Find the HCF.

Find the prime factorisation of 100 and 140.

Find the HCF.
‘oo Q Q S S

juo ak9 ~F

MCF = rxdx D
< ao-

Find the prime factorisation of 105 and 140.

Find the HCF.

page 104 E1 and E2
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Multiples

Multiples of 8 Ll—- Multiples of 6

10, 25 6, 10

LcM: 50 Lcwm: 30
o MCF=5 HeF = 2
15, 20
Mce-3 29D
LCW\® 60 lllcs\' 3¢

n 9,12
4,16 Kt

Express 6 and 8 as the product of their primes.

b =« 3
g = Ax L

4
- s %152
MCF-2 Lew = S Te 2
=t
Find some common multiples of 6 and 8.
Find the lowest common multiple (LCM) of 6 and ¢
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Lowest common multiples

find the lcm of these numbers

56 10,12

25, 15

Write 20 and 32 as products
of their prime factors. Find
their lcm.

5x1 -
. Xllqgu'“\ lxlx%x“‘s

WA TG
Aot ddcn 2x3x3x\;7§<(7

5X7X7Xx7x11 73,_(,,\., SR x 3%

3X1X1 1xy{

Exam style question:

Express 84 and 105 as products of their
prime factors.

Find the HCF and LCM of 84 and 105.

$l.= ax ax3F HCF=3xtl
05 3.5xF LM kD
= 420

page 105: E3 and E4
Extension (B) E5-E7
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A pair of numbers have HCF of 5.
What numbers could they be?

A pair of numbers have HCF of
12. What numbers could they be?

,10\5pair of numbers have LCM of

What numbers could they be?
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Express 42 and 60 as the product of their primes.

Find some of the common multiples of 42 and 60.
Find the Lowest Common Multiple (LCM) of 42 and
60.
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Standard (index) Form
]

106 = [0OD 00O
10° = |00 O®

10* = |0 000

10" (pOd

10": (0O
' =10

0o .
10" F |

jo" * 0l
10 = 00l

p96 qu 2 -9

A number written in standard form is written as a multiple of a
power of 10.

The number is of the form

ax 10* where 1<a <10

26000 =2-6% 0"
560~5-bx (0"

22 = 2.2.2300 .
= 33x10

4x10° = {LO0O  7.01x 10’
= 301000 00006

32x10' =32 000

6.3001 x 10° = 630-0|
9x

November 13, 2014
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Which of these numbers are written in standard form?

Staste s
RIS

ite these numbers in standard
form...

2600
3
=2.6al0 342

Calculations using sf

2x 103 x4 x 10°

6 x 102 x4 x 108

4x104 x 2 x 103

page 103
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Standard form

Express as a ordinary number: 2684 X 1@
5.1 x 10 SHi e
= 510000003 1%+ 30 000

Express in standard form:

S
567000 =5-63x (0

310 : 3|4 \0° ~ 912378 - q.zg?;s
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@Small numbers in Standard form

Write these numbers in standard form:

4000-Lxi0* 32000
400 - 4x10" 3200
40 - uxi0 & 320
4 cuxlot 32 —pxd
0.4 - LI-:(’O.' ) 3.2 | |
0.04 - LUxl0 4 0.32 ——~
0.004 - lx [0 0.032
0.0032

0.00032

Write these as ordinary numbers:

a)4.5x 101 = O-45 ) 7.5x102 =0-00%5

b)3.6 x 101 = ®.3( f) 3.06x 101 = 030G
) 4.5x102 =0-04 5 g)4.05x 107 =0-00000040

d) 3.6 x 10 = 0-003b h) 3.61 x 10+ =(-000002,6)

Write these in standard form:
a) 0.3 =3x(0 { e) 0.0303 = Z-DB:IO""

3
b) 0.003 = dxI0 £ 0.0103 = |-03x (0>
-l -
c)0.13 = [-3x (D g)0.83 = 3’3x|0' .
Py " =
d)0.073 = #3400 1) 0.0000093 =9-3x(D

Red book: page 268 ex 4
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Calculations using standard form

2 x 167 x 3 x 105 = 6 0

\/
L 1
2x107x6x104= [Ax10 = |.2x|0D
1-2%10 » 0"
7x107x3x10"=2| % [D°

2l x (OY

9x 107 x8x 10°= 250" : 3 2x (O
Bx 104 x 3x 105 = Qx [0 = Qw10

6x10 o 1 8x10 - b [0°

3x10° 2 x 10!
9X1O4 3x107
3x 10 6 x 105

(2 x 108) = (8 x 105)

(3x107) = (9 x 108)
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Write these as ordinary numbers:

a)4.5x101 . 0.4,.5 & 7->X10% - 0-00%S
b) 3.6 x 101 « 9.3¢ D 3-06x10%. 0-306
c)4.5x102 = .04 S 9 4.05x107:0-0000
d) 3.6 x 102 * ©-003b h) 3.61 x10° 90403
20.0000036 |

Write these in standard form:

a) 0.3 e) 0.0303
b) 0.003 f) 0.0103
C) 0.13 g) 0.83

d) 0.073 h) 0.0000093
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Ro

Round the

a) 3.4502
b) 34.8\9’01
c) 89.9996

d) 301.495

g/) 0.00564

To round to
consider zera
infront of a
place value a
eg to 3 sf:
34056 = 3410
0.005672 = 0.
7.045 =7.05 t

3050307 = 30
@

a) 2.4602
b) 704.9901
Eor -
c) 49.9892
d) 1.4951
e) 0.2345
f) 0.004 532

g) 0.000 004

November 13, 2014
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Using a calculator for standard form.

Use your calculator to work out :
430000x 26000 = (.[| § x (O‘o

You cannot copy the calculator's display into

your book! “| % 10 X

Your calculator is quite good at doing standard
form!

0™ 3
gl)zxxm =000 ¥ (y)

S
3EXPS = 300000 3x IOQ
sExp4 * L0 000 Wx(0

On your calculator work out:

2AFXEX W pe = [2xI0
\o* 0™ v

6
2x 105 + 6 x 108 .é:lxlo

2300007

page 347

Show hwk presentations

Exam questions page 352
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